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Note: In case of failures/re-appear cases and fresh private candidates: i.e.
candidates appearing for the first time after having passed Secondary School
Examination, marks secured out of 50 shall be raised proportionately as if
obtained out of 75. ‘

1. {(a) For any two sets A and B, prove that :
(AnBY=A UB.

(b) If fix)=log []1*_:] shiow Ehie

2%
f —s = .
[1+:] B
Or

(a) In a Group of 48 people, 22 drink Tea but not Coffee and 34 drink Tea. Calculate
how many drink both Tea and Coffee. 3

(b) Iff: R — R; fix) = cos x and g : R — R; gix) = x* find

fog[%}rund go f(}/é). - 4
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2. (a)

(b)

(a)

(b)

3. (a)

(b}

(a)

(b}

4. (a)

(b}
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(2)
If p and q are both positive real numbers and p > q, prove that

= =
o |

In one root of x2 — x — A = 0 is square of the other, find the value of A
Or
Solve graphically :
x+y<h xzl, y=2 3

If @ and P are the roots of the equation x(2x ~ 1) = 1, find the equation, whose
roots are (2o - 1) and (28 - 1). 4

Express cos « in terms of cosec .
IfA+B+C=mn prove that :
sin 2A — sin 2B + sin 2C = 4 cos A sin B sin C.
ar

In any triangle ABC, prove that :

(a-b)* ‘::nsir!;—+{n+b}’ sin” %nc’. 3
In any triangle ABC, show that :
acos A+ bceos B=ccos(A-B) 4

Solve :

cos 40 = sin 30,

Iftan® 6 = 1 + 2 tan? ¢, show that :

cos? 9 = 2 cos? 0,



5. Prove by the Principle of Mathematical induction
1+3+65+...+@2n-1=n% vnpneN,
6. Solve for x : .
log (3x + 2) + log (3x - 2) = 5 log 2.
7. If 1, w and .m’ are the cube toots of unity, then prove that :
(1 -+ w)(l+w-o)s=4
8. Prove that :
cos 11° +8in 11°
TR it
9, If x, v, z are in AP, show that :
(x+ 2y —z) (Zy + 2 - x) (2 + x - y) = dxyz.
10. {a) Find first four terms of the series :
t, =(=1)"1 2"
(b} Find the sum of the Geometric series :
266 + 128 + 64 ....... + to 10 terms.
ig) Prove that :
(log a)* - (log b)* = (log.ab) .[lng -E-]
(d} Solve the following Inequation :
x-1
—2z3a
2
S1537

or
{a) Prove that :

ta.uﬁ+sacﬂ—1= 1+sin @
tan B-secB+1 cosB

(h) Simplify :



(4)
11. Choose the correct/most appropriate answer and write it in your Answer-book :

; y 1+21
(i} The conjugate of 3.1 is

fa) 1+ Ti
tb) 1-7i
1+T1
10
l--'?i.
10 -
(ii) The G.M. of the roots of 2x* -3x + 4 = 0 is
(a) 2 :
) 2

c) +3
id) None of the above. : 1

{c)

(d)

(iii) If A is a finite set having n elements, then the number of elements in P(A) is
(a) n?
(b} 2n
(e) 2n
id} no. 1
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